w’ ’. D ER I\IE§ 5 ™ Manufacturers of Specialty Products
Aicrdsniios for Sport Utility and 4x4 Vehicles

316 Millar Avenue « EI Cajon, CA 92020
MFG. BY GARVIN INDUSTRIES Phone 619/440-7415 « FAX 619/440-0851

Wilderness Jeep Rear Bumper

Part #34910

87~OL}‘1< Wrangler

Quter Bumper Kit Inner Bumper Kit Lower Support Bracket Kit
2-Re-inforcing Plates 2-Nut Plates(RT & LT) 2-Lower Support Brackets
4-7/16 x 1 3/4 Bolts 4-7/16 x 1 1/4 Bolts 4-7/16 x 1 1/4 Bolts

8-1/2 SAE Flatwashers 4-1/2 SAE Flatwashers 6-1/2 SAE Flatwashers
4-7/16 Lockwashers 4-7/16 Lockwashers 4-7/16 Lockwashers

4-7/16 Nuts 2-7/16 Nuts

—

Remove factory rear bumper.

2. 97-01 Wranglers use drawing below and drill 4-1/2" dia. holes through crossmember, as
shown. 87-95 Wranglers already have eight holes in the crossmember.

3. Install lower support brackets to bottom of frame, as shown in figure 2, page 2.

4. Install Wilderness bumper to lower support brackets, as shown. This will hold the bumper

in place for starting the eight crossmember bolts.

Install remaining eight crossmember bolts, as shown.

Align Wilderness bumper and tighten all hardware.

The Wilderness rear bumper and receiver is rated Class [1-3500# GTW and 350#

tongue weight, use the brackets welded to the rear portion of the bumper as safety chain

mounting points. Do not use these clevis pin mounting points for vehicle retrieval.

Doing so could cause the mounting points to bend on an angle bend. For vehicle

retrieval use a Warn(Part#29312) or Superwinch(Part#2546) receiver shackle bracket

with clevis pin.

LR h

DRILLING REAR CROSSMEMBER - 97 AND LATER TJ JEEPS

Original Factory Holes Drill 4 new holes 1/2" diameter § l Original Factory Holes

: Ly * . .
-5- D) =—— 78" 718" —> - 2 -
‘___7? Fenters ,,,@ M g 1-1/8" —>¢ “——7/‘} “enters ———»
- & N Y & e
Rear Crossmember Passenger Side

Driver Side

Page 1 of 2




WILDERNESS JEEP® REAR BUMPER
General Assembly Drawing Part No. 34910

WILDERNESS "

Accessories
MFG. BY GARVIN INDUSTRIES

oune@ [ pace 20F2
7116 x 1-3/4 Bolt

. ——— 76 Nut
12 SAE Flat Washer \@ 2 7/16 Lock Emm_/
) Flat Washer / \@\ FIGURE
1 1/2 SAE / ©
Nut REAR BUMPER
LOWER SUPPORT

Reinforcing BRACKET ~__
Plate

R

)

\

Rear Crossmember

\

|

(B

1/2 SAE Flat Washer
7/16 Lock Washer
7/16 x 1-1/4 Bolt

FIGUR mo 7116 x 1-1/4 _wo:|\

7/16 Lock Washer
. . _.-
._.o_u View Detail 1/2 SAE Flat Washer

% 7/16 Nut
7/16 Lock Washer -
1/2 SAE Flat Washer

-~ 1/2 SAE
1/2 SAE Flat Washer @\ Flat Washer

1/2 SAE Flat Washer

Outboard support plate is zoMm.. _\_\m...iuawn“ma.ho fr Eﬁm fs 7/16 x 1-1/4 Bolt =\ 7116
not required, but will provide a Lock Washer
vcﬁnﬂ. now.ﬂmn_. Moq mimm m:_m_to:. stronger bumper system if the 7/16 x 1-3/4 Bolt w
San # G SIS A M plates are welded. 4
1987-95 Use 7/16 x 1-1/4 bolt provided.
FIGURE ° 1997- 2001 Use factory OEM bolt.
) 97- 01 T) Models require drilling ) . , .
._._u“U View four (4) mounting holes into the Note: Welding plate to frame is not required, but

will provide a stronger bumper system if the
Jeep rear crossmember. plates are welded.

_ JEEP REAR CROSSMEMBER |

/U_\ ~ o - o

WILDERNESS BUMPER




